-A Tale of Two Cities – Charles Dickens. Novel was on the French Revolution. 
-England’s reaction to all the revolution: they had just lost the war with America, and they were facing it again with France (who was inspired by our revolution). They couldn’t risk another rebellion so close to home that might inspire their own people to revolt. Conservatives went nuts. England was the major world power for centuries, really until America came along. The loss was not only economic, but also in reputation. 
-Collective bargaining gave some power to workers. England wanted to maintain control. 
-Napoleon was making great reform in France – England didn’t like this. 
-Factories in the cities “smoked and stank,” and “were expensive both in terms of rent and of human life…If housing was bad, sanitation was worse.” – Christopher Harvie 
-Revolution in writing – most writing/philosophical periods of change are from a state of rebellion. Not only was society rebelling politically, but literary rebellion was prevalent. Instead of writing about reason and logic, (Swift), they wrote about things of the imagination; fantastic things that evoked emotion. 
-Parallelism: the repetition of words, phrases, or sentences that have the same grammatical structure or that restate a similar idea. 
-Lines 1-2: the flicker of a tiger’s stripes as seen through the tress of a dark forest
-Stanza 4: They quicken the pace and lend urgency to the poem 
-Implication in line 20: Did the lamb’s creator also create the tiger? He means the lamb, the symbol of Christ or simply of innocence, came from God; he wonders whether a creature as “fearful” and mysterious as the tiger could have the same source. 
-Evoked emotions from the lamb? Joy, tenderness, protectiveness. 
-Words/phrases evoking these emotions? Lamb’s wool as “clothing of delight, / softest clothing, wooly, right”; “tender voice”; “vales that ‘rejoice’”
-He is Christ

-Second stanza; The creator calls himself a lamb and became a human child (referring to God’s incarnation as Jesus). The lamb being addressed and the child speaker symbolize their creator’s innocence and purity to match their own. 
-Difference in pace: Lamb = more peaceful and calm. Tyger = more rushed and urgent 
-Examples of parallelism in Sweeper Innocence: First nine lines contain three instances of main clauses beginning with “so”; the last line of the poem repeats this. The clauses beginning with “so”, as well as the frequent use of “and” suggest the rhythmic, singsong quality of a children’s song, reinforcing the characterization of the speaker and heightening the contrast with his too-adult circumstances. 
-Coffins of black: not just death, but death in life. Dark lives of the children; narrow confines of their circumstances; death of innocence and childhood – they’re robbed of their childhood. 
-Why is his simple faith stinging? The reader knows what the speaker does not – that it will not end well. 
-Black and white: Blake uses white to represent purity, faith, and innocence of childhood (Tom’s hair, naked bodies of little sweeps washed clean in the river, the snow), and all of that is covered and destroyed by the clack soot of experience (“coffins of black”, “we rose in the dark”, “A little black thing”, “the clothes of death”.) The kid picked up on how dirty the soot made him. 
-Constructions for parallelism: “because” in lines 5 & 9, starting adverb clauses. Repetition makes us sympathize with the kid (tries to be good, but keeps being rewarded with more suffering). They talked about the irony in the cause-and-effect relationship. 
-Chimney sweep blames his parents, and the system of ‘God, priest, and king that justifies his exploitation’ – remember, the people who pray for him were the same people who sold him into child labor. 
